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QUESTION 1

Which two are restrictions of beans with bean-managed transactions? (Choose two.) 

A. The NONSUPPORTED transaction attribute must be chosen. 

B. Clients calling with a transactional context are prohibited and will result in an exception. 

C. A stateful session bean must commit a started transaction before a business method returns. 

D. A bean that starts a transaction must complete the transaction before it starts a new transaction. 

E. A message-driven bean instance must commit a transaction before the onMessage method returns. 

Correct Answer: DE 

 

QUESTION 2

Given : 

I. public class MyExceplion extends Exception {} 

The remote business interface Foo declares a method workQ: 

5. public void work0 throws MyException; 

The bean class FooBean contains the following: 

10.©Stateless 

II. @Remote(Foo.class) 

12.

 public class FooBean { 

13.

 public void workQ throws MyException { 

14.

 throw new MyException0; 

15.} 

Which exception can be received in the client as a result of invoking the work method? 

A. a MyException 

B. ajavax.ejb.ConcurrentAccessException 

C. a javax. ejb. EJBException that wraps an instance of MyException as the rootcause 
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D. aJava.rmi. RemoteExceptionthatwraps an instance ofMyExceptionas the root cause 

Correct Answer: A 

 

 

QUESTION 3

Which two are programming restrictions in the EJB 3.0 specification? (Choose two.) 

A. An enterprisebean must NOTattempttoloadanative library. 

B. An enterprise bean must NOT declare static fieldsasfinal. 

C. An enterprisebeanmust NOTattemptto createa newsecurity manager. 

D. An enterprise bean mustNOTpropagate a RuntimeExceptiontothe container. 

E. An enterprise bean must NOTattemptto obtain ajavax.naming. InitialContext. 

Correct Answer: AC 

 

QUESTION 4

A developer wants to release resources within a stateless session bean class. The cleanup method should be executed
by the container before an instance of the class is removed. The deployment descriptor is NOT used. Which three
statements are correct? (Choose three.) 

A. The cleanup method may declare checked exceptions. 

B. The cleanupmethodmusthave noarguments andreturn void. 

C. The cleanup method isexecuted inan unspecifiedtransactionand security context. 

D. The developer should mark the cleanup methodwiththe @PreDestroy annotation. 

E. The developershouldmark thecleanupmethodwiththe @PostDestroy annotation. 

F. Thecleanup method is executed inthetransactionandsecurity context ofthelast business method invocation. 

Correct Answer: BCD 

 

QUESTION 5

A developer is creating an entity which is mapped to a table that has a primary key constraint defined on two character
columns and would like to use mapping defaults as much as possible to simplify the code Which two mapping options
can be chosen? (Choose two.) 

A. Use an @ld property that constructs a private field as a concatenation of two columns. 

B. Use a separate class to map those two columns and use an @ldClass annotation to denote the primary key field or
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property in the entity. 

C. Use a separate @Embeddable class to map those two columns and use an @Embeddedld annotation to denote a
single primary key field or property in the entity. 

D. Use a separate @Embeddable class to map those two columns and add two fields or properties to the entity, each
marked as @ld, that correspond to the fields or properties in the embeddable class. 

E. Use a separate class to map those two columns. Specify that class using @ldClass annotation on the entity class.
Add two fields or properties to the entity, each marked as @ld, that correspond to the fields or properties in that
separate class. 

Correct Answer: CE 
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